Q-1

Meiaaiar) o mean
TR | Qg_j}@@n 2.

=

' k] i Erij r\"}ﬂ i R
i BD, Mo, 20

SARDAR PATEL UNIVERSITY
BCA Semester-6 Examination, 2022
US06CBCA23 ||Data Communication and Computer Networks

Time : {¢.00 g.m. —{2.00 pin. Dehe: 24-¢. 2022 : Marks: 70
Select the appropriate option for the foilowing questions: 10
1) “Interconnected collection of autonomous computers” is known as .
A.  Computer network C. Host
B.  Subnet D. Server
2) The data elements sent from one device to another per second is known
as .
A.  Bandwidth C. Modulation Rate
B.  DataRate D. None
3) Cable has a central core conductor of solid wire enclosed in an insulating
sheath, which is, in turn, encased in an outer conductor of metal foil, braid, or a
combination of the two. :
A, Twisted-pair C. Fiber Optical
B.  Coaxial cables D. None
4) is an analog multiplexing technique that combines analog signals.
A.  FDM C. WDM
B TDM D. None
5 A is a set of rules that govern data communications.
A.  Layers C. Network
B.  protocol D. Communication
6)  Dialog control and synchronization is responsibility of
A.  Transport layer C. Application layer
B.  Network layer D. Session layer
7} Which of the following CSMA has highest chances of collision?
A.  l-persistent C. non-persistent
B.  p-persistent D. All have
8)  Avrepeater operates at___ layer.
A.  physical : C. network
B.  datalink D. all of these
9 consists of two distinct components: transmission lines & switchin g
elements.
A. Host C. Intermediate System
B.  Subnet D. Server
10) A Bluetooth Network is called a
A.  Piconet C.  Wireless
B.  scatternet D. None
Tick (TRUE or FALSE) and Fill in the blanks. : 08
1) When the packets are small and all the same size, they are often called
2) In Transmission is use # wires to send » bits at one time.
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The signal from a satellite is normally aimed at a specific area called

A switch performs filtering on the basis of address.

The connection of two or more networks is called an internet. [TRUE/FALSE].
Twisted-pair cable is a unguided medium of transmission, [TRUE/FALSE].

An artificial satellite needs to have Orbit which is the path in which it travels around the
Earth. [TRUE/FALSE].
Router Device amplifies the signals, [TRUE/FALSE].

Give short answers of the following questions: ( ANY TEN) 20
Explain DQDB in brief. ‘

What is computer network? What are the three categories of computer network?
Explain SUBNET in brief, |

Explain serial transmission in short.

List various categories of Coaxial cable and state their use.

What do you mean by Multiplexing? List out various Techniques.

What is satellite? List categories of satellite.

List main responsibilities of Physical layer.

Draw diagram for protocol of different layer of OST Model.

Explain Wireless Network in short.

What is Hub? What are the types of Hub?

List out advantages & disadvantages of Star topology.

Give Long answers of the following questions: (ANY FOUR) 32
Explain classification of computer Network.

Explain LAN in detail, |

Explain Fiber optic in detail.

Explain FDM in detail.[

Write a note on satellite Network.

What is OSI model? Draw diagram of OS] Model. Explain any two [ayers.

Explain Mesh topology with its diagram, advantages & disadvantages.

Explain: Repeater and Bridge.
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